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(1) 正弦定理より，
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よって，
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となる。

ここで，cos
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)
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)
dθ = −dt である。

したがって，∫
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そして，
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であるので
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(2) (1)より

r = 1√
2 sin
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4

)
であるから

β =
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) cos θ dθ

となる。

ここで， π
2

− θ = φとおくと，dθ = −dφである。

そして，
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2

φ π√
2

−→ 0

であるので，
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となり，β = γ が示された。



β + γ =
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また，β + γ = 2β である。よって，β = α
2
である。

したがって，

β =

√
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である。


